

$$\lim_{x, y \rightarrow \infty} (x^2 + y^2) e^{-(x+y)}$$

$$\frac{(x^2 + y^2)}{e^{x+y}} = \frac{x^2}{e^{x+y}} + \frac{y^2}{e^{x+y}} < \frac{x^2}{e^x} + \frac{y^2}{e^y} \rightarrow \boxed{0}$$

$$\lim_{x, y \rightarrow \infty} \left( \frac{xy}{x^2 + y^2} \right)^{x^2}$$

$$x^2 + y^2 > 2xy \quad (x-y)^2 > 0$$

$$\Rightarrow \frac{xy}{x^2 + y^2} < \frac{1}{2}$$

$$0 < \left( \frac{xy}{x^2 + y^2} \right)^{x^2} < \left( \frac{1}{2} \right)^{x^2} \rightarrow \boxed{0}$$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} (x^2 + y^2)^{x^2 y^2}$$

$$\boxed{0^0}$$

$$x^2 y^2 \leq \frac{1}{4} (x^2 + y^2)^2, \quad 1 \geq (x^2 + y^2)^{x^2 y^2} \geq (x^2 + y^2)^{\frac{1}{4} (x^2 + y^2)^2} = \frac{1}{4} (x^2 + y^2)^2$$

$$0 < x^2 + y^2 < 1$$

$$\lim_{x, y \rightarrow 0} (x^2 + y^2)^{x^2 y^2} = \lim_{t \rightarrow 0^+} t^{\frac{1}{4} t^2} = \lim_{t \rightarrow 0^+} e^{\frac{1}{4} t^2 \ln t} = \boxed{1}$$

$\frac{1}{4} t^2 \ln t$   
 $\downarrow$   
 $2 \ln t$

$$\lim_{\substack{x \rightarrow \infty \\ y \rightarrow \infty}} \frac{x+y}{x^2 - xy + y^2}$$

$$0 \leq \left| \frac{x+y}{x^2 - xy + y^2} \right| \leq \left| \frac{x+y}{xy} \right| \leq \frac{1}{|y|} + \frac{1}{|x|}$$

$$0 \leq \lim \left| \quad \right| \leq \lim_{\substack{x \rightarrow \infty \\ y \rightarrow \infty}} \frac{1}{|x|} + \frac{1}{|y|} = [0]$$

(für  $\approx 0$  limit)

VOLL

$$\lim_{x, y \rightarrow \infty} \frac{x^2 + y^2}{x^4 + y^4}$$

$$0 < \frac{x^2 + y^2}{x^4 + y^4} = \frac{x^2}{x^4 + y^4} + \frac{y^2}{x^4 + y^4} \leq \frac{x^2}{x^4} + \frac{y^2}{y^4} = \frac{1}{x^2} + \frac{1}{y^2} \rightarrow [0]$$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow a}} \frac{xy}{x} \quad a \in \mathbb{R}$$

$$\frac{xy}{x} = \frac{xy}{xy} \cdot y$$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow a}} \frac{xy}{xy} = \lim_{x \rightarrow 0} \frac{y}{x} = 1$$

oder  $xy = t, a \neq \infty$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow a}} \frac{xy}{y} = \lim_{t \rightarrow 0} \frac{t}{t} \cdot \lim_{y \rightarrow a} y = [a]$$

$$\lim_{\substack{x \rightarrow \infty \\ y \rightarrow a}} \left(1 + \frac{1}{x}\right)^{\frac{x}{y}}$$

$$\lim \left(1 + \frac{1}{x}\right)^{\frac{x}{y}} = \lim e^{\frac{1}{1 + \frac{1}{x}} \ln \left(1 + \frac{1}{x}\right)^x} = [e]$$

$$\text{hob } \lim \underbrace{\frac{1}{1 + \frac{1}{x}}}_{\rightarrow 1} \underbrace{\ln \left(1 + \frac{1}{x}\right)^x}_{\substack{\text{Wohl} \\ \rightarrow e \\ \rightarrow 1}} \rightarrow 1$$

$$u = xyz \quad \text{mit} \quad x^2 + y^2 + z^2 = 3$$

Radius  
 1/2, 1/2, 1/2

$$\phi = xyz + \lambda(x^2 + y^2 + z^2 - 3)$$

$$\phi'_x = yz + 2\lambda x = 0$$

$$\phi'_y = xz + 2\lambda y = 0$$

$$\phi'_z = xy + 2\lambda z = 0$$

$$\phi'_\lambda = x^2 + y^2 + z^2 - 3 = 0$$

radial

$$\frac{\partial \phi}{\partial x} = 2x + \lambda = 0$$

$$\frac{\partial \phi}{\partial y} = 2y + \lambda = 0$$

$$\frac{\partial \phi}{\partial z} = 2z + \lambda = 0$$

$$\frac{\partial \phi}{\partial \lambda} = x^2 + y^2 + z^2 - 3 = 0$$

$$\Rightarrow (0, 0, 0) \text{ P}$$

$$(2x, 2y, 2z) = (0, 0, 0)$$

$$xyz + 2\lambda x^2 = 0$$

$$xyz + 2\lambda y^2 = 0$$

$$xyz + 2\lambda z^2 = 0$$

$$2\lambda xyz + 2\lambda(x^2 + y^2 + z^2) = 0$$

$$3xyz = -6\lambda$$

$$xyz = -2\lambda$$

$$\Rightarrow 2\lambda(x^2 - 1) = 0$$

$$2\lambda(y^2 - 1) = 0$$

$$2\lambda(z^2 - 1) = 0$$

$$\Rightarrow \lambda = 0$$

$$\begin{matrix} x \\ y \\ z \end{matrix} = \pm 1 \Rightarrow$$

$$\lambda = -\frac{1}{2}$$

$$1 \ 1 \ 1$$

$$1 \ -1 \ -1$$

$$-1 \ 1 \ -1$$

$$-1 \ -1 \ 1$$

$$\lambda = \frac{1}{2}$$

$$-1 \ -1 \ -1$$

$$-1 \ 1 \ 1$$

$$1 \ -1 \ 1$$

$$1 \ 1 \ -1$$